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1.  Which one of the following separates Tasmania | 1. ﬁﬁ%@ﬁﬁﬁﬁlﬂ@mﬁmaﬁ s i &
from Australia ? HATFEATS 2
(a) Great Austrhlian Bight (@) e s R aRe
(b) Bass Strait ¢¢y - - A
(c) Magellan Strat (b) ST i
(d) Tasman Sea<j (c) HieH S|y .
P~ (d) TEHER 85

2. Consider the following statements with reference 2.

to world population :

I Brazil has the highest population among the
South American countries,

II. Asiacontinent has the highest growth rate of
population. "

IIl. Africa is the most densely populated
continent %;the world.

Which of the afxgife statements is/are correct ?
(a) BothIandill

(® OnlyIl

(c) BothIandII

(d) OnlyI =i
Which one of the following pairs is not correctly | 3.
matched ? )
(Plantation Crop)  (Name of Country)
(a) Coffee - Uzbekistan
(b) Rubber g— Malaysia
O )
(¢) Tea <f—  Sri Lanka
(d) Cocoa < — Nigeria
e

Which of the following commodity has the | 4.

greatest share of Indian exports ?
(a) Agricultural products

(b) Mineral ores

(¢) Handicrafts

(d) Engineering goods

favg sEEn ¥ gad § Prefafad s w AR

ﬁﬁﬂ: '

L wfe oo i 2w H wed iU
ST |

. wRen WY Sewed sAEen 3fe X
@are | _

1. anhieT e =1 watfis go- s@r TeTEy & |

I | o F-AA ) R/ 2

(a) 13RI SHT

()~ I 11

(c) 1A II=MT

(d) Faal

Freae gt & - o el g TE R 2

(TH1 %) (%1 T 77H)
(a) <FEaT (S N SEIEasIEt
b) = - mofmm
() = - s
(d) Rl @) - S

fr=feflaa & & form axg @1 fowan widta frata o
LEHRE

() FVIEE

(b) @RS T

(c) TR

(d) sshfvaftr s amm
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Which of the following is nof a Rabi pulse crop ?
(a) French bean

(b) Chickpea

(c) Green gram

(d) Lenul

— R —
2 aae
B 3 UNHSIV.-01
5. Which one of the following pairs (Folk dance — Frferftaa % & a9 T (ks Jed — Iefd AT
Place of Origin) is not correctly matched ? ) Tl ‘ﬂ@' T2 i e e
(1) Yakshagana - Rajasthan () TETH XqroresT
(b) Kaikottikal - Kerala H\g —
(¢) Koli — Maharashtra ®) -
(d) Himachali - Kullu Valley (©) ich - ¥
(d) ferrref)< e ot
6. zeufzzgencl){ of. which of the following elements Freaferfan o & fra ey i edy 3 oo e A B
o S Bye Owing and poor growth of the plants ? T & g ﬁqﬁ:m.&m 30
oron (@) =
(®) Phosphorus -
(¢) Calcium (®)
(d) Nitrogen (c) Hfexrm
(CRREEE 2
- Eleer
7.  Match Lis-t~l with List-I1 and choose the correct I@.Iﬁtﬁg:ﬂﬁgﬁ%aaﬁﬁq aﬂtﬁ&qmg‘g
answer using the codes given below : T 9T mi@mgﬁq -
List-] List-11
-1 \D -
(Buddhist text) (Content) g;y% g;:
A. VinayaPitaka i. Regional histories of ! . :
) A. foafes i. sgud s ey
Buddhism 2P
B. Sutta Pitaka ii. Buddha’s teachings B. §W .. £
. e ii. Rreard
C. A})hidhmnma iii. Rules for l‘hose joinirixg c. af feF L 3;1?81? TAEEY
Pitaka the Buddhist monastic it 3 oo o
order
D. Mahavamsa iv. Philosophical matters D. v
Pitaka SR
. -
Codes (a) A-iii, Bm, C-iv, D-i
(a) A-iii, B-ii, C-iv, D-i (8) A-v, Rolit, Gl Dl
(b) A-iv, B-iii, C-i, D-ii «(c) A-iii, Bsjv, C-ii, D-i
(¢) A-iii, B-iv, C-ii, D-i - (d) A-iii, B, C-i, D-ii
(d) A-iii, B-iv, C-i, D-ii B4
8.

frefafaa @ @ F19- G 1 2oTs 1 wwa T8
27

() B9l well OF i)

(b) =1

(c) ¥

(d) "t
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9.

10.

11.

12.

13.

Ashish leaves his house at 20 minutes to seven in
the moming and reaches Kunal’s house in
25 minutes. They finish their breakfast in another
15 minutes and leave for thei@fﬁce, which takes
another 35 minutes to reach. ADwhat time do they

leave Kunal’s house to reach Weir office ?
(a) 8:15 AM (b) <F20 AM
(c) 7:45 AM

(d) Prao AM

Find the missing number :

”YIS 13\(14 19 4
729 ?

1225
(@) 641 by rss2
© 529 @ B9 247

The final of the World Chess @ampionship 2024,
was played between : <t

(a) Ding Liren and D. Gukéshk

(b) Viswanathan Anand and D. Gukesh

(c) Magnus Carlsen and Vladimir Kramnik

(d) Ding Liren and Vladimir Kramnik

A family consists of six members P, Q, R, S, T and
U. There are two married couples. Q is a doctor
and the father of T. U is the grandfather of R and
is a contractor. S is the grandmgther of T and is a
housewife. There is one do&tdr, one contractor,
one nurse, one housewife an o students in the
family. Which of the followayg is definitely a

group of male members ? <
@ UT ®guT
(© QU,P d QU

Introducing Shyam, a lady said, *“The father of his
father-in-law is my father-in-law.” How is Shyam
related to the lady ?
(a) Father

(c) Son-in-law

(b) Husband
(d) Son

10.

11.

12.

13.

ey e g sw 8 e e W W
foraperat & 3 25 fire & FoMe & T UgEAI 8 1 7
T 15 iz # 31T TIvdT Wew Fd § AN 3R
iife % fore et ST &, et uge o 35 fome 3
AT & | 3 I iR T ¥ forg Fome F WA
T o Fered € 2

(a) 9rd: 8:15 (b) 3md: 7:20
. (c) 9d: 7:45 (d) Hrd: 7:40
AT 1 FIfT |
17 18 13 14 19 4
1225 729 Y
(@) 641 (b) 542
(c) 529 (d) 639

forvar wrater Sftazafira 2024 =1 BT e e
ST T 97 ?

(a), Fémeiroa & w3

(b) forarmerm strie ue &1, e

(c) B FITHA Td sATSHIR Sl

(d) FEneia wd st wmfie

THIER A 8: 9e= P, Q, R, S, TaT U & | yf@r
¥ 31 fafed S ¥ | Q U Siaex & iR T frar 2
U, R HI3ET 8 N T8 CH IREN 8 1 S, TH T 2

- 3R 9 O Tfeoft ] | afEm § o Stae, ts 33ER,

T T, T Tfeoft qut @ o ¥ | Feafafee § @

ﬁ:r-mﬁrﬁaﬁmﬂgmamﬁwmg%?
@ UT b QU,T
(c) QU,P (d QU %’;g

A 1 A 3 5T, U AR 3 e, T wg

ferer T T & | v 6 I Hieen & FrEE R 9
(a) fuar (b) ufa
(c) =wmE g e

: S
-0
B
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15.
16.
17.
18.

19,

20,

UNHSIV.-01

(@) Badminton World C
(b) Kabaddi Worlq Cup
(¢) Hockey Worlg Cup

(d) Cricket World Cup %%%

hampionship

The 2024 Nobel Prize in Ph
was awarded to Victo
for discovering :

ysiology or Medicine
r Ambros and Gary Ruvkun

(@) Messenger RNA (®) Ribosomal RNA
(¢) Transfer RNA (d) Micro RNAs

In which country was the world®

wind farm inaugurated in Augus
(a) Germany

(c) Taiwan

s largest offshore
12024 ?

(b) Denmark
(d) United Kingdom

In March 2025, NASA astronauts Butch Wilmore

and Sunita Williams returned to Earth on board
SpaceX’s spacecraft named

(a) Challenger (b) Dragon
(c) Columbia (d) Discovery

In the 2024 Paris Olympics, the Jmen’s freestyle
57 kg wrestling event Bronze medal was won by :
(a) D.T.Cruz

(b) Sarabjot Singh
(c) Akshdeep Singh

(d) Aman Sehrawat

India’s first manned deep ocean mission is
named :

(a) Vikramaditya

(b) Samudrayaan
(¢) Varunayaan

(d) DIVE India

Which city will host the
Games ?

(a) Glasgow
(c) Hamilton

2026 Commonwealth

(b) Birmingham'
(d) Melbourmne

14.

15.

16.

17.

18.

19.

20.

2025 ¥ weel IR 7ATEeS fohTen # SIA-aT 3 %
et v e e e, Rt s it s S Y
A Y sy feram 2

(a) i faga Sfgafing

(b) Fed

(c) @rehl fava =g ~ Qg

(d) ez v B

aﬁzozumﬁiﬁm‘tﬁﬁﬂmﬁ%%:rmﬂéagﬁn
ﬁwmaﬂtﬁﬁwﬁ&aﬁ@a%mﬁm
T2

(a) HR~R IR (bguzaﬁqaaﬂm

() TEF ARG  (dyHresht smwTw

ST 2024 7 3Frar 5 e 52 sroadie go o oy
Sare v St Ry a0

(a) it (by STTh

(c)- ATEEH (d) FTee e

e 2025 . A & TR 9 i w g

ﬁ%mﬁmqtmm@m%%q@m
TWES?

(a) =i @;_r%rn
(c) wrafaan (ck.)?r%ﬁﬁ'ﬁ

2024%%@@1%@_3&1‘%@
mwgﬁmmﬁm%ﬁmﬁm
T ?

(@) & %= (b) W Rig
(c) stardiq g (d) 37 HeUEg

AR o ——
7

_ka) Tawafes

(b) Wz
(c) EEH

(&ms‘i’w

2026%@@6@6‘13%31@3:%9213:&

U ﬁ
(a) TETEM gp)/ affam
(¢) efreem

(d) Te=d
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21. Which of the following pairs (State — Name of the | 21. fa=feifad ﬂ"‘ﬁ (T — FIFAT & H W) F J

Coal field) is not correctly matched ? aﬁ:r.mqé’fgﬁ%ﬁﬁ 29
(State) (Name of the Coal field) A=) (1T &5 FTH)
(a) Odisha — Talcher (a) Sffsm - e
(b) Madhya Pradesh — Singareni (b) FEwRw - famE
(c) Chhattisgaﬂ‘:: — Korba - (©) 373 £2 L (A HRET o
(d) Maharasht’D  — Wardha Valley @ WENE - auied a3

q—
22, Which of the f&qﬂowing pairs is not correctly | 22, ﬁﬁ%@ﬁgﬁﬁﬁﬁ-mﬁw gﬁi%til?ﬁ%?
matched ? P~
(@ et - WA QA

(@) Tuticorin — Fishing Harbour

' (b) =3 — W i
,-(b) Ct%en.nal — Artificial Harbour © @ AT S TR
(¢) Kolkata — Deepest Harbour of qrareE
India '
“ W = m‘ﬁﬂ’}ﬂ'
(d) Visakhapatnam — Natural Harbour

23. Match List-I WIEEZList-II and choose the correct | 23, ‘Hj’f-l Eql @-H o gﬁ%{‘ﬂ e o= feu ¢ %

answer using thé €bdes given below : T TN T e I AT
LiSf—I SE W—I
(]\-fame of ;S-r; List-IT . (fawisa s QE?-II :
Biosphere (Location (State)) i ErErefT (@)
Reserve) 7 PIH) ,
A. Manas - i. Meghalaya A. Aerer
B. Similipal ii. Kerala B. el
C. Agasthyamalai i, Odisha c. sfifemm
D. Nokrek iv. Assam D. HEH
Codes : ’:5_' ®e:
(a) A-ii, B-iii,ﬁiv, D-i | (@) A-ii, B-iii, C-iv, D-i
(®) A, B-ii, @ii, D-iv (b) A-i, B-ii, Ciii, D-iv
(c) A-iv, B-iii, C-ii, D-i . S,
@%% (,C) A-iv, B-iii, C-ii, D-i
(d) A-iv, B-ii, C-iii, D-i &

(d) A-iv, B-ii, C-iii, D-i
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24

25.

26.

27.

28.

29.

30.

31.

Padma Bhushan 2025 awardee for Science and

Engineering, Vinod Dham is known for his role in
the development of :

(a) The Pentium Chip (b) RISC Computing
(¢) ZiLOG Processors (d) SPARC Systems

India’s Chandrayaan-3 made a soft landing on the

moon, making India the country to do
$0.

(a) Second (b) Third

(c) Fourth (d) None of the above

The Lok Sabha Elections 2024 were held in how
many phases ?

(@) 9 phases (b) 7 phases

(c) 8 phases (d) 6 phases

In 2025, how many individuals were honoured
with the ‘Padma Vibhushan’ award ?

(@) 6 (®) 5 () 7 (d) 4

Which one of the following is an Export
Processing Zone ?

(a) Bengaluru (b) Delhi

(c) Kanpur (d) Falta SEZ

When was the ‘Zero Poverty Campaign’ started by
the Uttar Pradesh Government ?

(a) 26 January, 2025 (b) 2 October, 2024

(c) 26 January, 2024 (d) 15 August, 2024

What initiative did the Indian Government launch
to encourage climate-friendly lifestyle choices
among citizens ?7

(a) Green India Mission

(b) Mission LiFE

(c) Swachh Bharat Abhiyan g%%
(d) National Mission for Clean Ganga -
Which one of the following has received the Major
Dhyan Chand Khel Ratna Award 2024 ?

(a) Sukhjeet Singh

(b) Annu Rani

(c) Vantika Agrawal

(d) D. Gukesh

24, aﬁfzozsﬁﬁm@is’sﬁﬁuﬁn%mﬁwﬁ
mﬁwﬁaﬁmﬁmﬁﬂﬁﬂ%

IGEICIE GEL o
(a) mﬁlﬂv (b) RISC HOMT
(c) ZiLOG (d). SPARC woTTedt
25. %ma%?ﬁm:ra* TR T e ST w0, Rrad
T T O e AT
(a) fadta (b) Term
(c) =g (d) 37T & & Tl

26. T W AT 2024 Frad ol # Ho T
T ?
(@) 9= (b) 7=
(© 85 L (&) 67 gi%
27. 92025 ¥, ferarsafraat @t “qar fangmor qra?r{@r
o

@' W @7 (@4

<3

28. ﬁmﬁf@aﬁﬁmmﬁuhuw@%%’néﬂ
g7
(a) STTeIE (b) fo=dt
(6) FAR ©(d) BTN
29, I RN TR AT S yrad] e e gy
 frarman?
(a) 265al, 2025  (b) 2 IS, 2024
(c) 2697ad, 2024 (d) 15 3T, 2024
30. mmﬂwﬂﬁﬁwﬁm%msﬁmﬁ
mﬁ%%q%amaﬁgmmﬁ%o
ey e v e
(b) ﬁ{mr«nscsr*
(c) &= WG AhEH
(d) Tt @S i fam
31, frafafea & & frmnt o am <= g ™ [ER
2024 faem @ 2
(a) et feie
-y
(c) dfcer tmaTa
@ &
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32. Which of the following are water-soluble |32. ﬁmﬁfﬁaﬂﬁﬁaﬁmﬁmﬁgamﬁa i & 2
vitamins ? ™ i (a) ﬁ'ZTﬁH C aﬂ-{ D
(a) Vitamins C and D <t () Frifd B 3D
(b) Vitamins B and D = - Fre B 3t C
(c) Vitamins B and C (e EE AT
(d) Vitamins A and B ;'3- 5’3?.- (d) A B
33. Given below are two Statements, one is labelled as | 33. D o FH f%q 1y %, Rt ¥ & Ea)
Assertion (A) and other is labelled as’ a1firReA (A) aflt =gt & IO (R) FETTATR |
Reason (R). S .
Assertion (4) : Amphibians can tolerate mixing of FIA (4) : T 3‘"““@?1 qT ST IR T
oxygenated and deoxygenated blood. F fire FIHETHFAS |
Reason (R) : Amphibians are animals with two FRT (R) : I Y FeT geg ared It |
chambered heart.
T T =5 FITY :
Select the correct answer using the codes given ﬂ%ﬁqnqqgm L HE IH
below : ™ (a) AP (A) T 8, TG HRT (R) TA & |
(a) Assertion (A) is false, but %son (R) is true. (b) fFEYT (A) R FWT (R) HT T €, 9
(b) Both Assertion (A) and Reagon (R) are true, 8 £ wdt =arer T8
but Reason (R) is not the cdiect explanation (R), (A)
of the Assertion (A). FATE
(c) Assertion (A) is true, but Reason (R) is false. (c) AfirepeA (A) AR, I3 1T (R) HEGEL
(d) Both Assertion (A) and Reason (R) are true (d) SR (A) 3R FOT (R) 3T 9T ¥ e
and Reason (R) is the correct explanation of NN
the Assertion (A). ST (R), A (A) SATAT T
21
34. Which of the following part of brain is known as | 34, fre=faftan # & witass F1 F-a1 W TY Alass"
‘little brain’ ? P~ FecAraTe ?
(a) Medula (b) Cerebellum (a) Trewe (b) Foem
b E4E
(c) Pons (d) brum (c) dm (d) W E*i‘é
(NS
35. ‘Knock-Knee’ Syndrome res;fl':s due to the |35 -t fagm % WSHUT & FROTEIAT R |
pollution of : (a) HTEheH (b) RREIH
(a) Phosphates (b) Fluorides © Wa?-"ﬂ () uTer u'rgaﬁ
(c) Nitrates (d) Heavy metals
36. Blood is a type of 36. T T WL T el
(a) Connective tissue () A Sds
(b) Muscular tissue (b) Uig Faw
(c) Nervous tissue (©) S IECIRe TG

(d) Epithelial tissue

(d) I9EHAT FHdwh
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Which among the following was not one of those

states which were annexed to the British Empire

by Lord Dalhousie on the pretext of the ‘Doctrine
of Lapse’ ?

(a) Kamataka
(b) Nagpur
(c) Jhansi

(d) Satara

Who was the Governor General and Viceroy of

India at the time of the formation of the Indian
National Congress ?

(a) Lord Curzon

(b) Lord Duffeérin

(c) Lord Lansdowne

(d) Lord Ripon

Who presided over the first session of All India
Trade Union Congress at Bombay ?
(a) N.M. Joshi

(b) Lala Lajpat Rai

(c) B. Shiva Rao -
(d) S.A.Dange - E?&
Who established the Central Hindu College in
Banaras, which later emerged as the focal point of
Banaras Hindu University ? ‘-“f
(@)
(b)
(©
(d)

Swami Dayanand

Bal Gangadhar Tilak
Annie Besant

Madan Mohan Malviya

Where was the first session of the Indian National
Congress held ?

(a) Lahore

(b) Bombay

(c) Poona

(d) Calcutta

In which year was the Uttar Pradesh State Organic
Certification Agency established ?
(a) 2007 (b) 2011
(c) 2005 (d) 2013

37.

38.

39.

40.

41.

42.

Frafafaa # & S-a7 g 39 Ut i whtnfa 7@
o, S TS SEeRh grr s f & wem fafew
Wﬁﬁw%'qmé’m

(a) ®ewd oo

(b) AT
(o)~ Fidt
(d) Tam
YA T &9 % 739 & o9g 9Rd 6
Ta ST 3R TTEETT 1 a1 2

(a) GIEE T

(b) TS THA

(c) e wds

(d) <rE o

T Hflaa RdE 35 gfem 0w F ged
it it areyerardera= i oft 2

(a) TA.UH, A fro

[ORSIMIE L

(c) st B@ETwa E

(d) TET

FE W Age e Wi, St 9§ SARE
g fervaferamers & Fw=-forg 3 &0 & W o1, i
Tt fohe it oft 2

(a) Wi A<

(b) =T TR foere

(€) Th=a= ~

(d) T HIE HIeTEy-

74646

o1 ? ©
Q-
(a) WTER N~
(b) =g
(c) T Ee@
(d) HeTeRe e

fora ad o It W U e Wit weidt i
TRATYAT 1 718 ? |
(3) 2007
(¢) 2005

(b)
(d)

2011
2013
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43. Which cash crop is the major contributor to the | 43. I T A F " e &
agriculture economy of Uttar Pradesh ? ﬂ?ﬁcﬂ’fm ®?
(@) Maizee ™~ (b) Cotton (a) R (b) HITH
(c) Sugarcane @ Wheat = d) T
44, *“‘Operation Kayakalpfgcheme launched in Uttar | 44, ¢ Jo¥T L = T A HEHST”
Pradesh is related to : <t ; g gt g ? |
(a) Expanding unive((gty infrastructure (a) ﬁwaﬁam%gﬁwﬁaﬁzmﬁmm
(b) Revamping primiry schools ® srufires farererdt &1 geaR
(c) Promoting skill-based education HITE-TTeTTC e Y wgrar 3
(d) Improving higher education © :
(d) I=a R gar
4. In 2023 ~24, which state was the leading producer | 45, R ¥ 2023 - 24 ¥ P W SR
of food grains in India ? IATEH T ?
(a) Maharashtra a) TES
(b) Madhya Pradesh @ e
(c) Uttar Pradesh I~ ®) o
@ Punjab < 2y R =
(o) e (d) 9ss
46. When was the ‘Kisan@itra Yojana’ started in | 46, ST Y # e i e SR g A g 2
Uttar Pradesh ? < (a) 183, 2010 @ 18 3T, 2001
(a) 18June,2010 ™(b) 18 August, 2001 © 185, 2001 @) 18 37T, 2010
(c) 18 June, 2001 (d) 18 August, 2010 l
47. Consider the following figures : 47. 9= & st w fem Hifte -
2| 6 31 7? 2 | 6 3| 2
80 | 24 120 | 36 80 | 24 120 | 36
What is the missing number ? Rkiice ko a0
(@ 10 F~(b) 8
© 9 S@ 7 . ® 8 24
© © 9 @ 7 e
48. What was the Fiscal Héalth Index of Uttar Pradesh | 48, o4 2022 - 23 ¥ IW R F RN =Ry
intheyear2022—23f3: A (rehet eou $2) Rrammar o
T ?
(a) 459 (b) 370 (a) 459 ®) 370
i d) 479
(c) 350 (d) _(5) 350 (d) 47-9
49. Which of the following is an ocean current of the | 49, e & 9 s gﬂzﬁ YT HAeAifeF TerEnT
Atlantic Ocean ? _ g2
(a) Humboldt current (b) California current (a) T uw (b) Hfrwiftar urg
(c) Alaskacurrent  (d) Benguela current e) SRR Umy (d) ST am
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- X
Wh‘f:h one of the following states recorded the
maximum decada] growth

during the period 2001 — 70
(a) Maharashtra

of urban population
17
(b) Nagaland

(c) Kerala (d) Sikkim

Which of the following river originates from
Mansarovar in Tibet

insa and passes through
Shipki La mountain pass ?

(a) Chenab (b) Beas

(©) Ravi (d) Satluj

The Brahma temple of Pushkar is in which of the
following states ?

(a) Rajasthan
(b) Uttar Pradesh
(¢) Gujarat

(d) Himachal Pmde§h %E

Arrange the following states in ascending order on
the basis of percentage of Tribal population as per
Census 2011 :

I. Madhya Pradesh
II. Maharashtra

III. Rajasthan

IV. Meghalaya

Select the correct answer from the codes given

below :
(@ IV,LIL 1
(© ILILLIV

(b) NLIV,IILI
(@ LILIIL IV

Which one of the following states was most
urbanised as per Census 20117
(a) Gujarat (b) Goa

(c) Tamil Nadu (d) Mabharashtra

50. Frefafen & & fraasa Y 2001 — 2011 Fr oI F

A Tt ST Y s avde afa as A
@ wemrg M~ b) qomes '

<
O
© I« o (@) Rt
<
1. freffen § & S0 7 R § Teetw @
i g R T e R A A 2
() == (b) =™
(c) T (d) ags

52, R s A frfafaa 8 @ fra ose i e @

)
(a) TS

'ﬁ)‘ IWRA
() TUd g
(@) T w=_wr E

53. 2011 ﬁm%%m,ﬁn%ﬁauﬁiaﬁmﬁ

ST STEEAT & S 3 ST 9 A0S 70 1
=aftug fifsg '

I HEYeW

I HeRg

. TSeH .
Iv. WEeE %ﬁ
e fg e e § & wEl ICH AT hifo :

(@ IV,LII I () LIV, ILI
;\V

(¢ ILILLIV "«“(5 (¢ LILILIV
<

54. 2011ﬁwma§$mo Prefafiaa § § S

T o A Ielishd o1 ?
(a) TR (b) TET

(c) daffrerTg (d) FETTS
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55. Match List-1 with List-Il and choose the correct 55. @'Iﬁ@'n a q aﬁtﬂ%ﬁqmag

answer using the codes given below : =1 AT L HE I AT :

List-I . Listll g1 g1l

A. Kushanas ("15 Devaputra A. FA i. A

B. Pulakeshin Il <ij: Sakalottarapathanatha B. Sa%,ﬁﬂﬁd’m ii. ECIRTYATY

C. Harshavardhana &f])n Dakshinapatheshwara C. wiauq iii, SRR

D. Samudragupta ' iv. Kaviraj D. T« iv. ShfaTst

Codes : w2

56.

§1.

8.

(a) A-i, B-iii, C-ii, D-iv
(b) A-ii, B-i, C-iii, D-jv
(c) A-iii, B-iv, C-ii, D-j
(d) A-ii, B-iii, C-i, D-iv

El'gm
=
Bz

Which of the following pairs is not correctly
matched ?

(a) Ryotwari System — Madras

(b) Permanent Sett ent — Bengal

(c) Mahalwari System — North-West Provinces
(d) Talugdari Syst&_q_@— Bombay (Mumbai)

For which of the folmving rulers, is it said in the
‘Udaipur ~ Prashasti’ that “He achieved,
accomplished and made possible everything that
could not have been done by anyone else” ?

(a) Sindhuraj

(b) Vakpati Munja

(c) Mihira Bhoja

(d) Bhoja

Which of the follo
people should creat

kings stated that “All our
good deeds, free from all
disasters, enjoy the 30y with minds unpolluted
with jealousy” ? <f

(a) Samudragupta""

(b) Chandragupta Maurya

(c) Harshavardhana

(d) Ashoka

56.

57.

58.

(@) A-i, B-iii, C-ii, D-iv

(b) A-ii, B-i, C-iii, D-iv

(c) A-iii, B-iv, C-ii, D-i

(d) A-ii, B-iii, C-i, D-iv

et o & wl-a1 7w & gafa 7@ & 2
(a) YTaTE Yunelt — WEE

(b) Rf SEEE — S

(c)- mETTETS SuMet — IeR-ufRew €A wia
(d) TTEIHRRT ST — H (GE)

Frfafiaa 3 & forg o & o TRy J
FET TN 8 56 30 78 W g I o e o Ea
fora 3t s S o Rt g e o @ T
ur” 9 '

(@) Rrgos

(b) FrERAfTES
(c) Pferss .
(d) ¥t 242

Frefafas & @ fr oo = o & R e Wl
mmwwmgﬁ,mm&gﬁ,
31 & S T @ et E iRy 9

(a) W

(b) =T o

(c) wdady

(d) =
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59. Find the missing number - 59. T HEAT T Hif ;
4 6 .
/\ 4 6 7
7
VANGVANGON VANIVANGAN
(a) 86 >0 16 LB 6 5 S 46 3
a "
(®) 76 (a) 86 (b) 76
(c) 67 ) 55
' (c) 67 (d) 55
60. ¥n§ code l:dﬂguage, “tob iso har” means ‘Tobacco | 60. RE T "TI?L'EI “tob iso har” &1 3719 & ‘Tobacco is
Eabziltl’m?;(; “a\lr(f har hab” means ‘Avoid harmful harmful’, “d¢o har hab” T 37 2 * Avoid harmful
tobac::o’ Whil: i::lol tabd mea;\; .P:fz:".e :de habit’ m’l{é})le avo tab” &I 7Y ® ‘Please avoid
; € code used for ‘habit’ ? , .
(a) tob ®) hab %osacco lg}abn%%qﬁmmqgsrgﬁﬁmw
(c) avo (d) har ‘ P~
(a) tob (b) hab
(¢) avo (d) har
61. Ina queue of boys, A is seventh from the left and | 61. STeAh! Y Ueh ufer 8, arff o7 & grad T 9T A 99
if._n;;rch:;nge th’r.le]:'u-l ?toslifio;tsk,l theq _A ?t:;:t;mes i ST T SEe o &, Y A i iR 155w
i1fteen 0 3
i MIBSER, R G st At B Mo TR R | 2l 3R A B v 3 Hif |
(a) 19th (b) 12th (a) 193T (b) 1233
(c) 20th (d) 17th (c) 205”?5 (d) 17ar
. I
62. Find the value of x, if : 62. x 1 9UH IEHIRNT, afz
2%3=11, 23],
3*5=23, 3*5=23,
and x * 6 = 41. TWx*6=417%
@ 6 () 4 @@ 6 (b) 4
B4E EEE
© 5 (d 3 5% © 5 @ 3 =2
63. AbagcontainsfS,fZandflco'msint.heratioof 63. @%ﬁfs,fza’QHfla;fﬁﬁS“q‘:Sa;W
3 : 4 : 5. The total value of all the coins is ﬁﬁlwﬁﬂﬁﬂﬁmflloo% 1T EsH
£ 2,100. How many coins of T 5 are there in the ﬁlﬁﬁﬁfﬂﬁ" =
bag ?
(a) 250 <}
(a) 250 & 235 WO
(b) 225 v <t
(d) 210 (d) 210
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64. Match List-I with List-II and choose the correct

65.

66.

answer using the codes given below :
List-T List-IT
(Natural Source) (Acid)
Vinegar Methanoic acid

Tamarind Lactic acid

Sour milk (curd) Acetic acid

O o w»

T~
Qj-
D
<
in
Nettle sting )
Codes :
(a) A-iv, B-i, C-iii, D-ii
(b) A-iii, B-iv, C-ii, D-i
(©) A-E B-iii, C-iv, D-ii -
(d) A-ii, B-iii, C-iv, D-i E‘h

Tartaric acid

What is ‘Hydroponics’ ?

(a) Soil conservation ™~

(b) Grafting a plant O

(c) Study of vegetables :d'

(d) Growing a plant withQyt soil
: ™~

Given below are two Statements, one is labelled as
Assertion (A) and other is labelled as
Reason (R).

Assertion (A) : In photosynthesis, the radiation
energy of sunlight is converted into chemical
energy and stored in food materials.

Reason (R) : The final product of photosynthesis
is glucose sugar, which séon turns into starch.
Select the correct answeégs'mg the codes given
below : ot

(a) Assertion (A) is falséfBut Reason (R) is true.
(b) Both Assertion (A) pad Reason (R) are true
and Reason (R) is the correct explanation of
the Assertion (A).

Assertion (A) is true, but Reason (R) is false.
Both Assertion (A) and Reason (R) are true,
but Reason (R) is not the correct explanation
of the Assertion (A).

(©,
(d

64.

65.

g1 - Ilﬂgﬁ%aaﬁﬁqaﬂtﬁﬁqmm
mmmuﬁmgﬁq

r;r?ﬁaﬁah)

(a) A-iv, B-i, C-iii, D-ii

A-iii, B-iv, C-ii, D-i
(c) A-i, B-iii, C-iv, D-ii
(d) A-ii, B-iii, C-iv, D-i

CREEREHE R ICIEUICH] mm?'

66. fe ¥ wm fu ¥, A A w =

AT (A) 3R TR FR0T (R) FRU TR |
AFT (4) : TeHTO-ETR i, o & v §it
ﬁmmﬁmmﬁwmw
ﬁnﬁa%msrm%l
FR (R) : SHENI-HANT H AW Iere e
RU R, <7 o6 vt @ wite (e § w2
At fow T s o v e e T S
(2) ST (A) et &, g FTeor (R) W B |
(b) fERE (A) 3R FRO (R) B T ¥ ok
?T"T(R),W(A)aﬁmﬁwr@rw
|
(c) IR (A) TR, Y] T (R) T 2 |
(d) e (A) ik Fmor (R) B e & T
© ST (R), W(A)ﬁﬂﬁmﬂﬁ
FATR|
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When did t - Partis: .

. IEZSslivehed::;nl:::lan Movement begin with | §7. ahaT & 213 NERS T fawma Yevig & @Y
Calcutta ? Hon at the Town Hall, ﬁ‘m*ﬁ'ﬁ“ﬁm“m@?

(a) 16th October, 1905 (@) 16 FaTI, 1905

(b) 7th August, 1905 (by 7 AT, 1905 i

(¢) 16th August, 1995 (c) 16 3T, 1905 FY

(d) 5th August, 1905 (d) 53T, 1905 Tt

On defeating which politician, did Subhas | 68. YIS == ara fie ok 1 quRi ek sl

Cha.ndra Bose become the President of the Indian
National Congress 9

(a) C. Rajagopalachari

(b) Sardar Pate]

c) P i Si i
(c) Pattabhi Sitaramayya g%
(d) Jawaharlal Nehry ke
Which of the following countries did mor
recognize the Azad Hind Government ?

(a) Philippines (b) Indonesia

(c) Italy (d) Germany

Match List-I with List-II and choose the correct
answer using the codes given below :

List-1 List-11

A. Jat Rebellion i. 1554 AD.
B. Bundela Rebellion ii. 1672 A.D.
C. Satnami Rebellion 1ii. 1669 A.D.
D. Sikh Rebellion iv. 1675 A.D.
Codes : '

(@) A-i, B-ii, C-iv, D-iii

(b) A-ii, B-iv, C-i, D-iii

(c) A-iv, B-iii, C-ii, D-i

(d) A-iii, B-i, C-ii, D-1v

In which session of the Congress was the “Purna
Swaraj” resolution passed ?

(a) Madras session

(b) Lahore session

(¢) Lucknow session

(d) Calcutta session

69.

70.

71.

T HY & AT T 9 2

(a) . TSMTEET

b) TERRE S

(c) wErdamda QO
<

d) SEREEIERE O

ﬁmﬁffiaaﬁ%m%wﬁmﬁzmﬁ
HT=ar 7@t &t oY 2

(ay” Toferdtar (b) $SHRmE

(c) we=it (d) <t

-1 0 =11 @ gafera hifsrg ot i feg me e
=T TANT T e ST AT :

-1 -1
A SeiEE Q 1554 %,
B. wRenfusE {g 1672 %,
C. wamt fage ﬁg 1669 %.
D. frafsE V= 1675%.
Tz

(a) A-i, B-ii, C-iv, D-iii
(b) A-ii, B-iv, C-i, D-iii
(¢) A-iv, B-iii, C-ii, D-i -
gy A-ii, B-i, C-ii, D-iv BRE
Fi09 & forg REyA “tj:{?{'ﬁl‘ T YT 9|
AT YUT?

(a) HETH AETE
(b) <ER AHftrET=
(c) TGS IfEyH
(d) Herehar AT

74646
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73.

74.

75.

e —— A Lk e s ﬁ
‘16 UNHSIV.-01

Which fruit ranks first in India in terms of | 72. Wﬁ@gmﬁmﬁfwm%%?

production ? (a) qatar By =

(a) Papaya (b) Mango (c) IHES (d ol

(c¢) Guava (d) Banana

‘Kisan Call Centre” was started by 73. FaE H § Eﬁw %mgé

(a) NABARD ot |

(b) ICAR (#ff A

(c) State Agriirural University (b) FEHTIT

(d) Ministry €F Agriculture and Farmers

Welfare, ch&ernment of India

Which of the foﬂq-mving belongs to cash crops ?
I. Potato

II. Rice

III. Sugarcane

IV. Cotton

V. Rapeseed

Select the correct answer from the codes given
below : <t

() LI IV anf-y

(b) I,IIand HD

(© LIand¥
(d) L IandIV

Match List-I with List-II and choose the correct
answer using the codes given below :

List-1 List-1I
(Crops) (Diseases)
A. Paddy i.  Wilt disease
B. Wheat [~ ii. Black Rust
C. Sugarcant,‘?-) iii. Red Rot
D. Pigeon Peg iv. Brown leaf spot

Codes : E

(a) A-iv, B-ii, C-iii, D-i
(b) A-i, B-iii, C-ii, D-iv
(c) A-iii, B-i, C-ii, D-iv
(d) A-ii, B-iii, C-iv, D-i

A4d) T T R HeOT WA, M HUEHR
74, Frefafad § @ S 76 wEa @ HEa 8 ?

T

0. U

[l =1

V. wu™

V. % awE Q)

Hr fag Ty e 7 & w3 i =T i

(@) ML IV3RV

(b) I II3IRII

(¢) I,TI3ARIV Eg@

(d LRIV E%

T TN R G SW MY

qel-1 qefl-11

() (@)

o= i.  SHSTUT

L TR 0 )

T iii. EsA
I iv. S ie W

pgj.U.O!”?’

(a) A-iv, B-ii, C-iii, D-i
(b) A-i, B-iii, C-ii, D-iv
(c) A-iii, B-i, C-ii, D-iv

(d) A-ii, B-iii, C-iv, D-i

75.  GEll-1 ! -1 & gafea fifve o= e se
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g ai S — 0iD i ¢
correctly matched 2 pairs (Fat — Oil) is no

(@) Mineral oi] — Petroleum

(b) Vegetable fats — Phytostero]
(¢) Mustard oil — Lubricant

(d) Animal fats — Cholestero]

quua Regian
following ?

(a) HCl and HF

(b) Concentrated HC] ang Concentrated HNO,
(c) HCl and HBr
(d) Concentrated HCI and Concentrated H,80,

The type of mirror used in the headlight of a car
1S

(@)
(b)
(©)
(@

1S a mixture of which of the

Plane convex mirror
Concave mirror
Plane mirror

) of (D)
Convex mirror :

G
Which of the following is not a luminous object ?
Flame of candle

Moon

Electric lamp

Sun

(®)
©
d

The distance at which the average radius of Earth’s
orbit subtends an angle of 1 arc second, is known
as: -

(a)
(b)
()
(d)

1 Fermi
1 astronomical unit
1 Parsec

1 light year

Which of the following is correct ?

90

(a) 1metre=10 nanometre
19

(b) 1 metre =10 ~ nanometre

9
(c) 1 metre = 10" nanometre

(d) None of the above

76.

77.

78.

79.

80.

81.

Frefafaa gt (@@ - Jo) & & S od gk
T

(a) G aet — Weiferam
(b) SEafe FET — BRI
(c) T&&Er —E8F

(d) I TELSRIARUS A

g W RaRae 3 & e R 2 2

(a) HCI

(b) W= HCI 3ACHR HNO, 4

(c) HCI R HBr

(d) &% HCl 3R &= H,S0,

I H FSTEE § ITANT o S At dor 7 wam

?:

(a) HHISA I YT

(b) e 40

(c) THaw g

(d) maﬁf

Fraferfes o i s 7g e 2

(a) Tl Beksarer

(b) ==

(c) foegm g

d) @

8 gl o o geelt it e Y oftew s 1 ok

HERUS T RN ST FEell B, FEemdt R -

(a) 1wt

(b) | ElEES

() 1@t

(d) maam%
O

ﬁwﬁaﬁaﬁﬁmmwa?
(@) 17T =10" 3z
&) 1= 10" Ffex

© 1¥iex=10" dnfiex
@ A

T
EXE
b
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82.  Which of the following statements is/are correct in | 82

83.

the context of the Treaty of Lahore (1846) ?

I The Maharaja lefi all his territories beyond
the river Satlyj forever.

II.  The Maharaja left his rights over all the
forts between the Satluj and Beas rivers in
favour of the Company.

II. The English army c?uld no longer pass

through the Sikh Statezf

Select the correct answer ﬁ'é:% the codes given

below : o
=
(a) Only I and ITT e
(b) OnlyIandII
(¢) L IIandIm
EEE
(d) Onlyl =32
r~

Match List-1 with List-II an%hoose the correct
answer using the codes gweﬁ:below

List-I
A. Igta .
B. Mahrousa ii.

Lzst—[] <
A portfon

Land under state
administration

C. Khalisa iii. Land revenue

D. Shiq iv. Protected town

Codes :
(a) A-i, B-ii, C-iii, D-iv

(b) A-iii, B-i, C-iv, D-i

7464647

(c) A-ii, B-i, C-iv, D-iii

(d) A-iii, B-iv, C-ii, D-i

83.

~

UNHSIV.q,

v 0 (1846) ¥ wd & Pt § 3

qﬁq.mfﬁwga%/%"

1. TS 3 WSS T 3 I ST F sy
wia & fag s feu |

1l wege A S A F S o
T 3 S b A A

fear

SpEiken)| mﬁ@mﬁﬁqﬁﬂmm
ot |

1 g T e & & T I T TwT A

(a) haet 11T

1.

(b) FaeT 13RI
(c) LI
(d) Fae]

a%ﬁla?ma"rnﬁuﬂ%ﬂaﬁ%rqaﬂtﬁﬁqrrqw
mmﬁaﬁmvﬁq

-1 aei-11
AT i TEHYm
B. Welddn . TST SR o 7 iy
C. @ifer|r i, b QULS
D. i iv. i amw
E T4

(=N

(@) A, B-i, C-iii, D-iv
(b)  A-iii, B-i, C-iv, D-ii

o
(€)  A-ii, B-i, C-iv, D-iii B

(d) A-iii, B-iv, C-ii, D-i
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87.

88.

89.
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']'h‘e phenomenon of “Urban heat jslands” refers | 84. el FwAT g i gftge frad weffa v 2
fo: (a) m‘f%mﬁﬂﬁ%‘lﬁ
(a; ;)ecreas:ld eNergy consumption (b) T IqTaeT Y 3TferaRar
ncrease
g;’) Higher tetr[:;e(r::t\;ire i (© A Eﬁ R S e
in urban areas than (8

nearby rural areag Rl <
(d) Decreased temperature in urban areas (d) e Mﬁmﬁgﬁ
Biofertilizers are : 85. SI-JH T : P~
(a) Organic manures (a) EACIEC RG]
(b) Cultures of micro-organisms ® GEH-S1aT 1 Hae (FHe=r)
(c) Green manures -
(d) None of the above ‘ EZ)) ﬁﬁ%ﬁqﬁ %%%
Which of the following states of India has higher T % FefaRaa & @ frg U o afgeren i gen
number of females than males 9 T & A | 2
(a) Karnataka (b) Tamil Nadu (a) WAl (b) g
(c) Kerala (d) West Bengal © ¥ (d) ufEmeme

When was the first Mineral Policy announced in
the State of Uttar Pradesh ?

(a) On December 29, 1999
(b) On December 29, 1996
(c) On December 29, 1997
(d) On December 29, 1998

=‘-v
Elres

Which website has been prepared to monitor the:
financial activities of the State of Uttar Pradesh ?

(a) Arthashastra (b) Srishti
(c) NIC (d) Koshvani

Who is the author of the book “The Population
Bomb™ ?

(a) Malthus
(c¢) Thompson
In which city is the ‘National Institute of
nomics and Policy Research’

(b) Paul R. Ehrlich
(d) Donald Bogue

Agricultural Eco
located ?

(a) Lucknow (b) New Delhi

87.

(c) Hyderabad (d) Mumbai

88.

89.

90.

mmmﬁmiﬁamﬁmqﬁaﬁnﬁ
ot 2 {w)

(a) 29 feaw, 1999%

(by 29 Femwr, 1996 Fie

(c) 29 femmw, 1997 ®r

(d) 29 @R, 1998

I NN U= Y ot fomamett it Bt /v 36 g
-t JeETge dAR R TS R 2

(a) SR (b) gfg

() TWIMEH (NIC) (d) Firamit

'?ﬁﬁ?m"mm%é@mﬂw%?

_») W ) e o i
(c) v (§) TS A

O
Tt i srefaTen SRR S wer fr
e i e R 2
(a) TGS ) & fReh
(c) TSUEg (d) Ted
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91. Consider the fOllOWiﬂg events and arrange them in ﬁ":‘%ﬁgﬂ qa'llall T I\l Z1L8 |’|[ g 3ﬂ-{ 3% H‘Eﬁ
correct chronological order : A ﬁm@ﬁm (s
1. Cabinet Mission [ e e pi A
II.  Cripps Mission . forea e g
III. Quit India Movement [l T BIgH ST E
IV. Mountbatten Plan V. HTEzae sl
Select the correct answer from the codes given #=2 ﬁqm?ﬁ Y eI I A TG HINC :
below : 11 1IL IV
(& LILII, IV o L ELLI®
(®) ILIIL I IV @ ILIULL
(C) HI, I, II, IV i (C) IH, I, II, IV
(d) IV,1,II, I 245 (d) 1V, L1IL I
92. Consider the following statements : 92. ﬁﬁlﬁﬁﬁ'ﬂ FoAr @ fomm ﬁﬁ‘m :
L. The first Muslim President of Indian . GEEEH agesit WU@?W%@
National Congress was Badruddin Tyabji. gﬁrau I A | CD
II. The first woman President of Indian II. WWW@*@#W
National Congress was Sarojini Naidu. yigar area oft | <r
Which of the statements above is/are correct ? I | B W‘Fﬁﬁ%/é?
@) g;i‘hg Imor Il (@) FALIAL
(b) y (b) FEAI
(c) BothIandIlI
@ R 11 ST
(d) OnlylI EgE
@ Fael =55
93. With reference to ‘Ajivika Sect’, which of the | 93, ‘T<iifas dwer & deoof ¥, frafofes & @

following statements is/are correct ?
I. Ajivika sect followers mostly lived in forests.

II. This sect enjoyed great respect during the
Maurya era.

Select the correct answer from the codes given

below :

(a) Neither I nor II

(b) Only Il

(c) BothIandIl

(d) Onlyl

P TR 2/ 2
I Wﬁmw%?’ﬁﬂmﬂﬂﬁtﬁﬁl
IL. vawrﬁﬁmﬁmﬁ@mn

ﬁﬁ@‘lmﬁﬁaﬁwwa@ﬁﬁq
(@ AMLARI ,\

(b) A II

(c) I3 1IN

(d) Fae
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24| 2
6|3
(a) 120
(®) 16
(c) 29 @ 18

In a code language, ‘MISTAKE® is written as
9765412' and ‘NAKED' is written as ‘84123°,

Then, in the same language, how will
‘INTIMATE® be written ?

(a) 78698365
(b) 78579452
(c) 79438163
(d) 897866145

In the following question, select the related word
pair from the given alternatives :

Tuberculosis : Lungs : : Typhoid : ?

(a) Brain (b) Intestine

(c) Lungs (d) Kidney

Which one of the following figure is different from
the rest ?

@ A v

(d)

A

(c)

The year 2036 will have the same calendar as that
of :

(a) 2009
(c) 2008

(b) 2007
(d) 2006

95.

96.

97,

98.

Frefafaa fom &, g gen 0 % wm waAd
e amaft 2

[~
&
24| 2 «p
W
~;t-
t\,_,
6|3
(@) 120 (b) 16 P
(c) 29 (d) 18 e

ferelt sz wraT H “MISTAKE® %Y ‘9765412” ot
ST € 3R ‘NAKED’ % ‘84123’ @ ST 2 1 <t
‘INTIMATE’ &1 3t 91 § &2 ferar simam 2

78698365

(a) ™~
(b) 78579452 %
(c) 79438163 (“TD
(d) 897866145 <t

P

Fferftan s , fewome freredt 3 & weifra e qm

(©) %53 @ T
Frefefiaa smepferdl & F-h o S A s 2 0
(@ ® | /\

I

W

%
(©) @ =<

. 7

at 2036 T Fel=gt TE B, SRR R -
(a) 2009 T (b) 2007 =
(€) 2008 =T (d) 2006 FT
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99.  Which one of the following pairs is nor correctly | 99, frefafad gﬁaaﬁq e TRy
matched ? (qd’a?l’l?-’fﬁ (=9)
(Mountain
Passrg (State) (a) faaem - SWETs
@ Sinla S - Uttarakhang b) ager - i N
®) Nathul% - Sikkim () siem - I Em
IR , - femme
(c) ZojiLa — Arunachal Pradesh d fRereft =
(d) ShipkiLa - Himachal Pradesh
100. “Yela Mala’ is the name of which of the following | 109, freferiaa & & foreerr A AATHTAT’ § ?
? . Bt
() Shevaroy Hill @) -
a evaroy Hills Tnﬂ -
(b) Garo Hills ®) .
(©) Anaimalai Hills —_— (e) SIS TRl
(d) Cardamom Hills oh (d) aHrefm TESal
101. Which one of the following pairs (Tree — Area) is | 101 Refiiad mt (F& — &) § ¥ HHE-AT O HE
not correctly knatched ? wifr T2
(a) Sal- No%—eastem parts of the Indian (2) HTE — WA TR F m_qéf a7
Peninsula
TR — et grarsta <1 afart
(b) Teak— \gf%tem part of the Indian Peninsula (®) o
(c) Deodar ™Nilgiri Hills (9 SR e
(d) Sundari — Sundarban Delta (d) Yl —gea sea
102. Which of the following is a local storm of Bengal | 102. fr=iferfiga i & #5-ar T THME S T FEH |
and Assam, useful for tea and rice cultivation ? T T 919 h Gt Ru enErs 20
(a) Karaburan (@) A
(b) Blossom shower (b) e Tt
(c) Norwesters T _
(d) Mango shower EZ))/ P, %%
103. Which one of the following Union Territories of | 103. 2011 I =TT ¥ YR & Frafafas 3= mfaa
India had the. highest literacy rate in 2011 Tt # O frgah [T ¢ I==q o} 2
Census? L () U 3R FrraR dveE
(a) Andamanénd Nicobar Islands b) S
) . 0
(b) Chandigalh © Tsdn
(¢) Daman gnd Diu @
(d) Lakshadweep '
104. Plants that tolerate a wide range of temperatures | 104, 3 N8 Sy o syt T A & weh ferega faream 1 @8
throughout the year, are called : o &, Feaa E
(a) Hekistothermal ~ (b) Eurythermal (a) cFF=rnta (b) Fherda
(c) Microthermal ~ (d) Stenothermal (c) wTgshrfer (d) wWerenfa


https://play.google.com/store/apps/details?id=com.xodo.pdf.reader

i

105.

106.

107.

108.

109.

110.

111,

Made with Xodo PDF Reader and Editor

i23*

UNHSIV.-01

Which agro-climatic zope in Uttar Pradesh is most

vulnerable tg climat ) |
€c i icularly
in agriculture 9 hange impacts, part

(@) Western Plajp, Zone
(b) Bundelkhanpg Zone
(c) Eastern Plajp Zone
(d) Central Plajy Zone

:{he name of the scientist who proposed the
Ten Percent Rule” of energy is :

(a) Haeckel (b) Lindeman
(c) Tansley (d) Odum

Which one of the following is a landlocked
harbour ?

(a) Haldia

(b) Ennore
(¢) Mumbai

(d) Visakhapatnam

The ‘hydrological cycle’ is controlled by :

(@) Grasslands (b) Epiphytes
(c) Lichens (d) Forests

According to Census 2011, which of the following

Union Territories has the highest population
density ?

(a) Puducherry

(b) Lakshadweep

(c) Daman and Diu -
(d) Dadra and Nagar Haveli E*?}_.

What is the purpose of the “PRANA” portal ?

(a) Industrial emissions control

(b) Monitoring the National
Programme (NCAP)

(c) Plastic waste management

(d) Water pollution monitoring

Clean- Air

Which of the following states of India has the
highest density of population ?

(a) Uttar Pradesh (b) Bihar

(c) Madhya Pradesh  (d) Punjab

105.

106.

107.

108.

109.

110.

111.

IR T P HR-Serary 87 Ferarg Thadd &
wrEt, faeet FfY % ufy el i daeasfis
27
(a) firdt fgreh &
(b) FeerEUs &F
(c) gt derh &=
(d) 7 e e

[
m{fgmuﬁmwﬁwﬁﬁméﬂmﬂm
2w

(@) ¥ (b) feizd=

© T (d) e

fefiflas § ¥ wFw ™ wees @edes)
HEOTE R ?

(a) = (b) TR

© TE (d) FemmraTTET

el = A s g

(a) v (b) fErTey

(©) a_];i_%r—r (d) =

2011 AT 3 3rFER, Fefiiea & & e %=
m%mmmmaafm%?

@) fj?ﬂ

(b) &

(c) TadT

(d) =T 3 TR g
“PRANA" GIEe o1 1 ITANT R ?

(a) Menfires Scasta fresor
(b) T TS a1y FEFHT (NCAP) i st
(c) iR afite yevT ,

(d) %w:gwﬁrm-—ﬁ

<}
m%@%«ﬁﬁﬁ-ﬁmﬁmm
e W ST 2 2
(a) I WY
(c) wWeg e

(- fawm

(d) 9Tt
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112. Which of the following is mot an Operating | 112. ﬁﬂﬁﬁgﬁ . g
. aresRrETe AEE  (b)
System ? (a) F
(@) Microsoft Office (b) Linux (©) i d
Wind i :
(c). indows (d) I'me | F & e <ver T 3 Bramw & =g ey
113. Which one of the following Chola Kings | 113. et aTedT TST F THT Ry
destroyed the Chera navy at Trivand?@n and then il T H feam 3t h
captured the Pandyan King ? Sg o7 7
a) Kulottunga W
Eb; Rajendragl (‘g (@) oz guw
(c) Rajarajal P (®)
(d) Rajadhiraja (c) T 3oTH
(d) TSRS

wiE (e Fgea_ famw

114. A MAC (Media Access Control) address is 114,
bits long. AaTe |
(a) 128 (b) 48 b) 48
(a) 128 ( i
© 64 @ 32 © 6 @ 32 =5

The famous Battle of Haldighati bergfeen Akbar

ST S ABTIVIT STd o Wed WG Seei=I T I

115. 115,
and Maharana Pratap was fought in Hoyear : AT AT AT Y -
() 1576 A.D. (®) 1579 % (@) 15763 % ®) 1579%F
. () 1397AD. () 1575 5D. ©) 1597% % ) 15755 F
116. Who among the following assumed the titles of 116. F=fafae & & freay <o sa-faamss T
“Yamin-ul-Khilafat” and  “Nasir-e-amir-ul- cqﬁ{.q_aq:ﬁ;_ga_xﬁﬁ:ﬁqv = gt aror 55§ 2
Momineen” ?
a) A Raersi
(a) Alauddin Khalji Eb; Torm
(b) Balban ©
(c) Firoz Shah Tughlag e ettt a1e e
(d) Nasiruddin Mahmud =42 (d) T weng
117. Intel Core i9 is a type of M~ 117. ST I i9 Teh e T 2
(a) Processor (b) Mothethpard (a) WRET (b) W=
(c) Hard disk (d) None gfthe above ) == (d) ST T & A T
q‘ ~
118. The grand stupa of Amaravatj wasibuilt by the | 118. 3T & woq RSNEED| ot LU
. AT 4T o7 |
(a) Vakataka Dynasty (a) SATRICH T
(b) Maurya dynasty (b) WY T
(c) Shunga dynasty () YU

(d) Satavahana dynasty

(d) WTTETRT usEy
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119. Which of the following critics used the term

120.

121.

122.

123.

124,
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“Quasi-Federal” for the [ndian system of
government ?

(@ B.R. Ambedkar

(b) Jawaharlal Nehry

(¢) K.C. Wheare

(d) Laski

Distribution of Taxes between Centre and States
in India is done by the :

(a) Parliament

(b) Planning Commission

(c) National Development Council

(d) Finance Commission

Which among the following is nor a pért of the
Governing Council of NIT] Aayog ?

(@) Governors of States

(b) Chief Ministers of Delhi and Puducherry

(¢) Lieutenant Governor of Andaman and

Nicobar Islands
(d) All Chief Ministers of States

Among the following, which one is the statutory
body ?

(@) Labour Commission
(b) NITI Aayog

(c) Planning Commission 9%
(d) Finance Commission Erw?
Estimation of National Income in India is done by
the :

(a) Reserve Bank of India

(b) National Income Committee

(c) National Statistical Office

(d) Planning Commission

Who among the following was the first Indian to
be awarded the ‘Bharat Ratna’ ?

(@) Nelson Mandela

(b) C. Rajagopalachari

() Abdul Ghaffar Khan

(d) Pranab Mukherjee

119.

120.

121.

122.

123.

124,

Frafafaa @ fea sl Y syt s saaen
% fore “oned-damens re w1 v fRaT 2

(d) al@ﬁ].
mﬁﬁ?ﬁku&ﬁ%mﬁmﬁa@m%:
€Y mg
(b) FrSTIZTET
(©)
(d) fa=r s
frafafea 3 & #9 Hif amim & wradhig aftwe =0
feem e far 2 2
(a) T=ETF TSI
(b) faeett sit gg=rt & e ot
(c) UM AR FFIER goee F Aftete mafk
(@) TS gt e

©

PR #-eft T dunfies wreer 2 2
(@) =m

(b) Hifer s

(c) ST 3TENT

(d) fow smam

NI H RT3 T STTehe T 2 -

(@) WA fierd S

(b) TS s afafy

(c) U@ﬂ’@ﬁ@mﬁaﬂfm |
(d) TR =43

<+
oS4 e cor
W 6 9 2
(a) T He
(b) HI. TR
(c) TS TERR @1
(d) o gt

gitye

¥ 9l 9 Ay wuw
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125. Which State Government has started the scheme
‘Nivesh Mitra’ ?
(a) Maharashtra
(b) Tamil Nadu
(c) Uttar Pradesh
(d) Madhya Pradesh

126. What is the name of the third volume of
Akbarnama written by Abul Fazl ?

(a) Sipah-Abadi
(b) Sulh-i-Kul
(c) Manzil-Abadi <t
(d) Ain-e-Akbari %{’
: w0
127. Which state has the Iaﬁ%st economy in India ?
(a) Maharashtra
(b) Gujarat
(c) Uttar Pradesh
(d) Tamil Nady

128. Before his death in 1539 A.D., whom did Baba
Guru Nanak choose as his successor ?

(@) Guru Angad

(b) Guru Namdev E&t

(c) Guru Arjan g

(d) Guru Tegh Bahaql:g; %ﬁé’
e

129. How much were India’s forei gn exchange reserves

at the end of December 2024 ?

(a) USD 653-97 Billion

(b) USD 629 Billion

(c) USD 640-3 Billion

(d) USD 578 Billion

I
130. Which among the folloz%ing is the largest Stupa in
the world ? <

(a) Bharhut Stupa :ﬁ—)
(b) Dhamek Stupa <.,
(c) Kesariya Stupa

(d) Sanchi Stupa

125.

126.

127.

128.

129,

130.

@) eSS
(v ARETE
o) I 2
) qeT T ¢

i g 9 i fra TS R R
(a)~ HE

(b) TS

(c) ST IR

(d) afFeTg

1539 §. & 319 gog F T, I 6 AF Y o
SRR foReent AT 2

(a) To3fme

(b) e

(€) T

(& 776 O SR

ﬁmzoz4%aiaﬁmmrﬁ%sngmmm
T 2

(@) 653-97 faferm sy Ser

(b) 629 fafera amifety 2ter

(©)- 6403 forfora sty e

(d) 578 forferam sifeh) Sierc

ﬁq%%aﬁ%%ﬁwmﬁamwgaﬁ:r-m%?

(a) T =
(b) Hﬁmq\q

(<) %ﬂﬁmwﬁ
Jes Fﬁﬁaﬂﬁg
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Which one of the following is a correct match ?

() Sevagram Project _ Vinoba Bhave
(b) Grow More Food — Jawaharlal Nehru
Campaign
1 _(c) Co-operative — Mahatma Gandhi
Movement
(d) Etawah Pilot — Albert Myre
Project

132.

133.

134,

135,

Which of the following chermcals is used to hasten
ripening of fruits ?

(2)
(®)
(©)
@

Indole-3-Butyric acid
Malic hydrazide
Cycocel

Ethrel

5

Consider the following statements with reference

to the 16th Finance Commission :

I. The Commission was constituted on 31st
December, 2024.

II. Shri Arvind Panagariya is its Chairman.

Which of the above statements is/are correct ?
(a) Neither I nor II (b) Only Il
(c¢) BothIandII (d) Onlyl

The Destructive Insects and Pests Act (DIPA) was
passed in the year
(a) 1957
(c) 1946

(b) 1929
(d 1914

Which of the following is nof a beneficial
insect ?

(a)
(b)
(c)
(d)

Helicoverpa armigera
Bombyx mori
Laccifer lacca

Apis mellifera

131. Frrferfea & & Fiar or wd g 2 2
(2) ¥ammelEeEr - fEETE

(b) aﬁma-——rawa‘vraﬁ - VAR AEw
ARRmE O

(c) mﬁmmﬂ% —  ETeHT TiTHt

q—
(d) FEImae M~ - e AET
TR -

132, Fafafaa & 9 9-81 wEe vt @ iy e &

fore s g 2 2
(@) FoIT-3-gffe Wre
(b) BT TITERS
(c) drsrE
(d)
: I~
133. 163 fag s & 6g
ity :
L. amﬁwrmnaq:s%w 2024 I gAT AT |
0. aﬁmﬁzqﬁnﬁmmmﬁl

Wt o @ -8/ FT w2
(@ TALIANI ® FE@am
(c) I3ARIIEHT (d) Faal E%i-

134, fommyerlt e ik digs sfufan @ and i) af

Ao geme |
(a) 1957 (b) 1929
(c) 1946 g (d) 1914
135. ﬁuﬁ%rﬁaaﬁﬁaﬁmﬁ@qaﬁamrﬁﬁzaﬁ%?
(a) efcreplaaf
(b) @iftgFgmg ™~
(c) TRIw At
@) e\ A

UNHSIV.-01

aﬁﬁﬁnﬁmmﬁmﬁm
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136. Which of the following is the correct chronology | 136- 29 o
of the given events ? : g © -

_ e W, e BRE dem gy

(a) August Offer,;Cabinet Mission Plan, Shimla (2 y '
Conference, Cripps Mission

(b) August Offery Cripps Mission, Shimla

Conference, Cdbinet Mission Plan ® Wmﬁm |
(c) Shimla Confer{nce, Cripps Mission, August gaeH, o e, g
Offer, Cabinet Mission Plan © e iﬁ';ﬂT mﬂq,
(d) Shimla Conference, Cabinet Mission Pla b
August Offer, Cripps Mission (@) R : e
W’ W mﬁ
137. According to which Article of the Indian | 137. SUSIER o : + N —m“ﬁﬁ\ﬁ
Constitution, — “No citizen shall, on grounds only :rrrlf@a?f m— ’
of religion, race, caste, sex, descent, place of birth, faE Wﬁﬁ @ et oft =1 T i foe

residence or any of them, be ineligible for, or ,ﬁﬁq\aqmqaé?mﬁ Y q‘a"fmmm

discriminated against in respect of, any faRaT
» I WY W ST ?
employment or oﬂicp_ under the State™ ? v o

(@) Article17 <t (b) Article 15 (a) ITDT 17 (b) TR 1S
(©) Article 16(2) $§  (d) Aticle 16(4) © STVIL6(2)  (d) ITRT 16(4)

138. Which of the following pairs is not correctly | 138. ﬁﬁ%@ﬁﬁﬁﬁ-ﬂ?ﬂﬂ'ﬁﬁ@ﬁﬁ?ﬁ%?
matehed? P~ (@ifer rfrm) (@753

(Fundamental Rights)  (Articles) .
@) AR ARER - IR 19-22

(a) Rightto Freedom : Articles 19-22 ]
©) wfREdma o a3 -2

(b) Rightto Freedom : Articles 23 -24 R :
of Religion .
; ©n wepfa i fimn : agede29-30
(c¢) Cultural and : Articles 29 -30 caief
Educational »
Rights @) wrrwafemr . T 14-18

. _ ok10
(d) Right to Equ{lgty :Artlcles 14-18 5%5

Q. "
139. In which part of thejndian Constitution, have the | 139, wﬁ“ﬁ%ﬁ?ﬂﬂmﬁﬁaﬁ?‘dﬁ%ﬁwﬁu

provisions for elccti@s b(e]:)n n;ade;v e |
(a) Part XVII  p~ art ] .
(c) Part XVI (d) Part XIV %g, @ XVII (17) & (b) WXV (15)f!

© MXVIQe)d (@) wmxav )T

140. Who was the first speaker of the Lok S.abha ? 140. &6 BT 35 yopyy e
(a) G.V.Mavalankar (b) Ravi Ral (@) St WI H (E(lbl )I : -
(c) * Mira Kumar (d) Balram Jakhar () ‘ﬂrrw ©
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j41. T 7 e yree 2 147, ‘TB AN IIRE e | ar o’ v R
(a) YET F AT NT L
(b) T (8 W fado
(¢ vt (b) wfeTENE
(d) et (c) TrETEe ferryur O
(d) u@rm%ﬂwﬁr
142. mﬁﬁ?ﬁqw-ﬁ’qﬁ@?ﬂﬁﬂﬁ%: 148. Fraforfas & & P-arar e w1 gatgar TE
(@) I -yax 29
(b) fH-z=
(a) T () 37
E;"; $~:;a‘ (©) fifirm (d) U
149, iy T Gl R 1 q@ AR F v R :
[ 143.ﬁ3ﬁqﬁqﬁzﬁﬁwi%lﬁaaﬁﬁuﬁwm% @
‘ (a) IO — AT Eb; Frirer
| (b) 3Tt — = . .
| (c) o —frowr = ﬁaﬁéﬁ
| @) - ogs 150.ﬁcaﬁaﬁaaﬁma1w§§r1w%aiaﬁaﬂﬁ%:
: s (@ @ ;r
14, ‘TR T TRl 16 o ety =1 o2t feeg & (b)
(3) NI, AT (c) T
(b) TRl sifavta (@) fowor
(c) MNME, T 151. Freicifiea & # b st qataarh 787 2 -
(d) e, T m E
(b) ypTeh
145, Frfafiae weu faeimgmt § @ sme =1 == © R . o
Fife ; (d) wwvE <f E%
(a) WA - gHaE 152.%&%‘%’%@%@#%;
(b) ST — o (a) FT SP o) T
(c) afr—am (c) T ™ (@) =
(d) fafr-fow
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